

# Sales Tax Exemption

The Texas Veterinary Medical Diagnostic Laboratory (TVMDL) is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the TVMDL.

The laws of the State of Texas shall govern this Purchase Order.

Purchase Order				
Purchase Order Date	PO/Reference No.	Revision No.		
Aug 16, 2018	AB0385741	0		

## Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

### **Buyer Contact:**

Buyer	Buyer Email	<b>Buyer Phone Number</b>		
anm - Mason, Allana	anmason@ag.tamu.edu	979.845.4513		
Customer Contact:				
Name:	Crystal Hudson			
Email:	CHUDSON@TVMDL	CHUDSON@TVMDL.TAMU.EDU		
Phone:	+1 979-845-3414			

#### Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by the Texas A&M Veterinary Medical Diagnostic Laboratory's Department of Purchasing Services prior to shipping.

Supplier Information		Delivery Information					
Supplier Name	REMI CORPORATION	Delivery Address					
Address	11325 N COMMUNITY HOUSE RD SUITE 300 CHARLOTTE, NC 28277 US	TAMUS Member: Attn:	20-Texas A&M Veterinary Medical Diag. Lab (20)				
FOB / FREIGHT	Destination	Finance					
Pre-Pay & Add	No	TVMDL-College Station Lab					
Payment Terms	0, Net 30	Room					
Contract Number - Header	no value	483 Agronomy Rd					
Contract Number - Line	no value	4471 TAMU	4471 TAMU				
Quote number		College Station, TX 77840-4471					
Quote number	Quote number		United States				
		<b>Delivery Information</b>					
		Required Delivery Date					
		Ship Via	Best Carrier-Best Way				

### **Notes to Supplier**

# **Shipping Instructions**

Attachments for supplier

Remi quote.pdf

INSURANCE REQUIRE...

Terms and Conditi...

TVMDL REQ 1064274...

### PO Clauses

Header 001 No Collect Freight Neither COD nor "Collect" freight or handling charges will be accepted.

Charges Accepted

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 25	3237248-Liquid Handling Workstation Serial #: 16402112 Model:	n/a	EA	2,231.428	4 EA	8,925.71

	Fax				
TeSeE NSP Manufacturer: Bio-Rad Laboratories Excluded Coverage: PC Coverage	ı		USD		USD
3237252-Liquid Handling Workstation Serial #: 16402111 Model: TeSeE NSP Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: PC Coverage	n/a	EA	2,231.428 USD	4 EA	8,925.71 USD
3237254-Homogenizer Serial #: 0255 Model: TeSeE Precess 48 Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: Computer	n/a	EA	739.418 USD	4 EA	2,957.67 USD
3308150-Microplate Reader Serial #: 269650 Model: ELx808 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables and packaging materials	n/a	EA	365.00 USD	4 EA	1,460.00 USD
3308151-Microplate Reader Serial #:199190 Model: ELX405R Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials	n/a	EA	351.313 USD	4 EA	1,405.25 USD
3308152-Microplate Washer Serial #: 131031C Model: 405LS Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials	n/a	EA	383.25 USD	4 EA	1,533.00 USD
3308182-Centrifuge Serial #: 5805DH365384 Model: 5804R Manufacturer: Eppendorf Excluded Coverage: Rotors	n/a	EA	163.338 USD	4 EA	653.35 USD
3308191-Microplate Reader Serial #: 17263 Model: 680XR Manufacturer: Bio-Rad Laboratories, Inc. Included Coverage: Depot service only	n/a	EA	299.118 USD	4 EA	1,196.47 USD
	I				
3308192-Microplate Reader Serial #: 258898 Model: ELx405RS Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials	n/a	EA	351.313 USD	4 EA	1,405.25 USD
	I				
3308193-Microplate Washer Serial #: 1705086 Model: ELx50 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials	n/a	EA	328.50 USD	4 EA	1,314.00 USD
	I .				
3308205-Centrifuge Serial #: ALF13M27 Model: Allegra X14R Manufacturer: Beckman Coulter Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Rotors	n/a	EA	321.428 USD	4 EA	1,285.71 USD
	1				
3308345-Centrifuge Serial #: ALF13M28 Model: Allegra X14R	n/a	EA	321.428	4 EA	1,285.71
	3237252-Liquid Handling Workstation Serial #: 16402111 Model: TeSeE NSP Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: PC Coverage  3237254-Homogenizer Serial #: 0255 Model: TeSeE Precess 48 Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: Computer  3308150-Microplate Reader Serial #: 269650 Model: ELx808 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables and packaging materials  3308151-Microplate Reader Serial #:199190 Model: ELX405R Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308152-Microplate Washer Serial #: 131031C Model: 405LS Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308152-Microplate Washer Serial #: 131031C Model: 405LS Manufacturer: Eippendorf Excluded Coverage: Rotors  3308182-Centrifuge Serial #: 5805DH365384 Model: 5804R Manufacturer: Bio-Tek Excluded Coverage: Rotors  3308191-Microplate Reader Serial #: 17263 Model: 680XR Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308193-Microplate Washer Serial #: 1705086 Model: ELx50 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials	TeSeE NSP Manufacturer: Bio-Rad Laboratories Excluded Coverage: PC Coverage  3237252-Liquid Handling Workstation Serial #: 16402111 Model: TeSeE NSP Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: PC Coverage  3237254-Homogenizer Serial #: 0255 Model: TeSeE Precess 48 Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: Computer  3308150-Microplate Reader Serial #: 269650 Model: ELx808 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables and packaging materials  3308151-Microplate Reader Serial #: 199190 Model: ELX405R Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308152-Microplate Washer Serial #: 131031C Model: 405LS Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308191-Microplate Reader Serial #: 17263 Model: 680XR Manufacturer: Bio-Rad Laboratories, Inc. Included Coverage: Depot service only  3308192-Microplate Reader Serial #: 17263 Model: 680XR Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308193-Microplate Washer Serial #: 1705086 Model: ELx50 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308193-Microplate Washer Serial #: 1705086 Model: ELx50 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials	TeSeE NSP Manufacturer: Bio-Rad Laboratories Excluded Coverage: PC Coverage  3237252-Liquid Handling Workstation Serial #: 16402111 Model: 1656E NSP Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: PC Coverage  3237254-Homogenizer Serial #: 0255 Model: TeSeE Precess 48 Manufacturer: Bio-Rad Laboratories, Inc. Excluded Coverage: Computer  3308150-Microplate Reader Serial #: 269650 Model: ELX808 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables and packaging materials  3308151-Microplate Reader Serial #: 199190 Model: ELX405R Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308152-Microplate Washer Serial #: 131031C Model: 405LS Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308182-Microplate Reader Serial #: 5805DH365384 Model: 5804R Manufacturer: Eppendorf Excluded Coverage: Rotors  3308192-Microplate Reader Serial #: 258898 Model: 5804R Manufacturer: Bio-Tek Excluded Coverage: Rotors  3308192-Microplate Reader Serial #: 258898 Model: ELX405RS Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308193-Microplate Reader Serial #: 1705086 Model: ELX50 Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308193-Microplate Reader Serial #: ALF13M27 Model: Allegra X14R Manufacturer: Beckman Coulter Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Rotors	TeSeE NSP Manufacturer: Bio-Rad Laboratories Excluded Coverage:  PC Coverage  2237252-Liquid Handling Workstation Serial #: 16402111 Model: 1824	TisseE NSP Manufacturer: Bio-Rad Laboratories Excluded Coverage: PC Coverage  3237252-Liquid Handling Workstation Serial #: 16402111 Model: 1564 RSP Manufacturer Bio-Rad Laboratories, Inc. Excluded Coverage: PC Coverage PC Coverage: PC Coverage Bio-Rad Laboratories, Inc. Excluded Coverage: PC Coverage: Bio-Rad Laboratories, Inc. Excluded Coverage: Computer Computer Sa308150-Microplate Reader Serial #: 269650 Model: ELx808 Manufacturer Bio-Rad Laboratories, Inc. Excluded Coverage: Computer Bio-Rad Excluded Coverages Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308151-Microplate Reader Serial #: 1919190 Model: ELx808R Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308152-Microplate Washer Serial #: 131031C Model: 405LS Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308152-Microplate Washer Serial #: 131031C Model: 405LS Manufacturer: Bio-Tek Excluded Coverages: cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308162-Centrifuge Serial #: 5805DNB465384 Model: 5804R Manufacturer: Bio-Tek Excluded Coverage: Rotors  3308191-Microplate Reader Serial #: 17263 Model: 680XR Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308192-Microplate Reader Serial #: 17263 Model: 680XR Manufacturer: Bio-Tek Excluded Coverages: Cabinet and housing, overlays, painting, trim decoration, controls external to the equipment accessories, consumables, and packaging materials  3308193-Microplate Reader Serial #: 17263 Model: Biosomy, overl

	Manufacturer: Beckman Coulter Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Rotors	I		USD		USD
13 of 25	3308346-Centrifuge Serial #: ALB08E018 Model: Allegra X22R Manufacturer: Beckman Coulter Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Rotors	n/a	EA	321.428 USD	4 EA	1,285.71 USD
14 of 25	3308354-Microplate Washer Serial #: EC6D014724 Model: 1575 Manufacturer: Bio-Rad Laboratories, Inc. Included Coverages: Depot service only Excluded Coverages: PC and consumables/supplies	n/a	EA	75.555 USD	4 EA	302.22 USD
15 of 25	3308356-Centrifuge Serial #: 42023446 Model: Megafuge 40R Manufacturer: Thermo Scientific Included Coverages: Depot service and onsite as required Excluded Coverages: Rotors and consumables/supplies	n/a	EA	196.188 USD	4 EA	784.75 USD
16 of 25	3308578-Centrifuge Serial #: 40336997 Model: Biofuge Pico Manufacturer: Heraeus Included Coverages: Depot service and onsite as required Excluded Coverages: Rotors	n/a	EA	109.50 USD	4 EA	438.00 USD
17 of 25	3202679-Tissue Processor Serial #: EX00750211 Model: Excelsior Manufacturer: Thermo Scientific Excluded Coverages: Knife holder replacement and expendable items	n/a	EA	2,118.975 USD	4 EA	8,475.90 USD
18 of 25	3202680-Slide Stainer Serial #: 511019 Model: NexES Manufacturer: Ventana Included Coverages: PM kit Excluded Coverages: Consumables/supplies	n/a	EA	2,247.75 USD	4 EA	8,991.00 USD
19 of 25	3202687-Analyzer Serial #: 8074826 Model: AU400e Manufacturer: Beckman Coulter Included Coverages: PM kit Excluded Coverages: Collectors, membranes, lamps, filaments, jets, multipliers, consumable valves, detectors and dip probes	n/a	EA	3,102.075 USD	4 EA	12,408.30 USD
20 of 25	3299908-Slide/Cassette Labeler Serial #: PP5357M1701 Model: PrintMate AS 450 Manufacturer: Thermo Scientific Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Consumables/supplies	n/a	EA	1,292.813 USD	4 EA	5,171.25 USD
21 of 25	3299910-Slide/Cassette Labeler Serial #: SPA08171939 Model: SlideMate Manufacturer: Thermo Scientific Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Consumables/supplies	n/a	EA	503.023 USD	3 EA	1,509.07 USD
22 of 25	3299911-Coverslipper Serial #: 47401130-0816 Model: Tissue-Tek Film Manufacturer: Sakura Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Consumables/supplies	n/a	EA	676.563 USD	4 EA	2,706.25 USD

23 of 25	3315257-Centrifuge Serial #: 561318 Model: Ultra WX80 Manufacturer: Thermo Scientific Included Coverages: Rotor inspection and PM kit Excluded Coverages: Rotor replacement	n/a	EA	289.445 USD	4 EA	1,157.78 USD
24 of 25	3187465-Tissue Processor Serial #: Ex44361211 Model: Excelsior ES Manufacturer: Thermo Scientific Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Consumables/accessories	n/a	EA	1,700.263 USD	4 EA	6,801.05 USD
25 of 25	3204831-Tissue Processor Serial #: ET06551508 Model: Excelsior AS Manufacturer: Thermo Scientific Included Coverages: Service must be performed by Remi designated vendor Excluded Coverages: Consumables/accessories	n/a	EA	1,700.263 USD	4 EA	6,801.05 USD

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu.	TVMDL-Accounts Payable  ***Do Not Mail Invoices***  Email invoices to TVMDLAcct@tvmdl.tamu.edu  P.O. Drawer 3040  College Station, TX 77843
Invoice must include the PO/Reference number shown above.	United States